Aun 4340 quarnetwise, Arcl Asym: Bearm ON, Laser OFF
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Flun 4340 quanetwise, ISba2 Acym: Baam ON, Lasar OFF
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Flun 4340 guanebwise, DSbg2 Asym: Baam ON, Lasar OFF

Flun 4340 quanetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun 4340 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Flun 4340 quanetwise, DSba1 Asym: Baam O, Lasar DFF

Flun 4340 quanetwise. Tap Fnger Atyri: Baarm OM, Lasar OFF
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AccO Asym (ppt): 5743.88 +/- 1275.84
USbg1 Asym (ppt): -15.35 +/- 13.97
USbg2 Asym (ppt): -10.27 +/- 6.21
DSbg1 Asym (ppt): -3.85 +/- 3.09
DSbg2 Asym (ppt): -3.82 +/- 2.91
Top Finger Asym (ppt): -0.67 +/- 6.07
Side Finger Asym (ppt): 3.22 +/- 4.76
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Run 4340, quartetwise: USbg1 vs time
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Entry%
Run 4340, quartetwize: DSbg1 vs time
a00n s

jac]

1000

IIII|IIII|I}:.

P

Run 4340, quartetwise: vertFing vs time
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Run 4340, quartetwise: LSbg2 vs time
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